Приложение 1

Вариант I – кислород      Вариант  II – водород

Условные обозначения :

–– ​-да;   ^ - нет

Ответы:

Вариант  I – кислород

^– –^^– –^^– – –^^–
1    2      3   4   5   6      7   8   9  10   11    12 13 14 15 

Вариант  II – водород

^–^– –^^– – – –^– –^

1    2   3   4      5   6   7   8      9     10   11 12  13   14 15

Каждый правильный ответ –– 1 балл

14 – 15 баллов   ––  оценка «5»

11 – 13 баллов   ––  оценка «4»

 8  – 10 баллов   ––  оценка «3»

менее 8 баллов  ––  оценка «2»

